
 

 

Контрольная работа № 6 

«Тригонометрические уравнения» 

Вариант 1 

   
 
 

Ответы: 

1) 1) ± 
𝝅

𝟒
 + 2𝝅n, где n ∈ Z  2) – 

𝝅

𝟏𝟐
 + 
𝝅𝒏

𝟐
, где n ∈ Z.   

2) нет.                                                                                                                                                    

                   3)  1) x = 
𝝅

𝟐
 + 𝝅n, n ∈ Z   

                         2) x = (– 1)n · 
𝝅

𝟔
 + 𝝅n,  x = (– 1)n+1 · arcsin 

𝟏

𝟑
 + 𝝅n, n ∈ Z 

                         3) x = – 2arctg 
𝟏

𝟗
 + 2𝝅n,  x = 

𝝅

𝟐
 + 2𝝅n, n ∈ Z 

                         4) x = (– 1)n+1 · 
𝝅

𝟖
 + 
𝝅𝒏

𝟐
,   x = (– 1)n · 

𝝅

𝟖
 + 
𝝅𝒏

𝟐
, n ∈ Z. 

 

 


